
Opérations avec deux fractions mixtes (C)

Nom: Date: Note:

Calculez chaque résultat.

1. 112 × 515 =

2. 5 110 ÷ 514 =

3. 513 ÷ 329 =

4. 512 − 412 =

5. 556 ÷ 4 112 =

6. 119 × 512 =

7. 512 + 212 =

8. 523 − 323 =

9. 512 − 312 =

10. 579 × 1 110 =
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Opérations avec deux fractions mixtes (C) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1. 112 × 515 = 3
2 ×

26
5 = 78

10 = 39
5 = 745

2. 5 110 ÷ 514 = 51
10 ÷

21
4 = 51

10 ×
4
21 = 204

210 = 34
35

3. 513 ÷ 329 = 16
3 ÷ 29

9 = 16
3 × 9

29 = 144
87 = 48

29 = 11929

4. 512 − 412 = 11
2 − 9

2 = 2
2 = 1

5. 556 ÷ 4 112 = 35
6 ÷ 49

12 = 35
6 × 12

49 = 420
294 = 10

7 = 137

6. 119 × 512 = 10
9 × 11

2 = 110
18 = 55

9 = 619

7. 512 + 212 = 11
2 + 5

2 = 16
2 = 8

1 = 8

8. 523 − 323 = 17
3 − 11

3 = 6
3 = 2

1 = 2

9. 512 − 312 = 11
2 − 7

2 = 4
2 = 2

1 = 2

10. 579 × 1 110 = 52
9 × 11

10 = 572
90 = 286

45 = 61645
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